573 GE 910-1 Date 2005/9/10
X 10[V/DIV
573 GEay Wit
Ef: 5 04V If: 2.82A Y 50[mA/DIV
X: 10V/div Y: 50mA/div Egl — |Vstep
' E — |V
£y Er 5.04]V
Th 2.82|A
Date 2005/9/10
X 10[V/DIV
573.GE s 918=2
Ef: 5 02V If: 3.12A Y 50[mA/DIV
X: 10V/div Y: 50mA/div Egl — |Vstep
Esg = Vv
Eh 5.02|V
Th 3.12|A
573 RCA 910-3 Date 2005/9/10
X 10[V/DIV
573 RCA  910-3
Ef: 5.03V If: 3.00A Y 50[mA/DIV
X: 10V/div Y: 50mA/div e Egl —  |Vstep
pln// - EESf _5_033
// 3pin Th 3[A

/V
’

e’




573 RCA 910-4 Date 2005/9/10
- X 10[V/DIV
E%S E.CSW ?110 3. 00A Y 50[mA/DIV
X: 10V/div Y: 50mA/div Egl — |Vstep
Esg = V
Eh 501V
Ih 3[A
/f
573 RCA 910-5 Date 2005/9/10
- X 10[V/DIV
E%S 2_034\/ ?;0 g 00A Y 50[mA/DIV
X: 10V/div Y: 50mA/div Egl - |Vstep
2indy EESf 504 3
y 3pin In 3A
573 NU. 910-6 Date 2005/9/10
- X 10[V/DIV
2%3 gf g'sv ?}0 g 14A Y 50[mA/DIV
X: 10V/div Y: 50mA/div Egl - |Vstep
Esg - V
Eh 503[V
Ih 314|A




573 RAYTHEON 910-7 P07
. X 10]V/DIV
2F R 0A T5: 5 0ok Y 50]mA/DIV
X: 10V/div Y: 50mA/div Egl - Vstep
Esg = V
Eh 5.04|V
Ih 2.96/A
5Z3 RAYTHEON 910-8 pate 2005/9/10
X 10]V/DIV
BF° 4 00V I: 3 OoA Y 50[mA/DIV
X: 10V/div Y: 50mA/div Egl - Vstep
2pin‘// Esg - Vv
/ 3pin Eh 4.99]V
// Ih 3[A
573 RAYTHEON 910-9 2077
5Z3 RAYTHEON 910-9 X 10|V/DIV
Ef: 4.99V If: 3.01A Y 50/mA/DIV
X: 10V/div Y: 50mA/div Egl - Vstep
3pin / / Esg - \Y
/2pin Eh 4.99]V
// P Ih 3.01]A




523 RAYTHEON 910-10 Date 2005/9/10
5Z3 RAYTHEON 910-10 X 10[V/DIV
Ef: 501V If: 2 98A Y 50]mA/DIV
X: 10V/div Y: 50mA/div Egl - Vstep
g Esg - V
%in & Eh 2.99]V
i Ih 3.01]A
KX-5Z3 T L/ {A Date 2005/10/22
. X 5[V/DIV
KX-5Z3 1L h FEA Y
Ef: 5 0V I 2 06 9pin /3pin Y 20|mA/DIV
X: 5V/div Y: 20mA/div i Egl ~  |Vstep
// Esg = Vv
Eh 5|V
Ih 2.96/A

y




